BALKON 2

I
\

\
\
N

| |0 =g |
l. Sypialnia 2 Sypialnia 3
\ 980 m? 886 m?
' Sypialnia 1
979 m’_ . N %
Rl o7 h \\\
)
I

i)
@ tazienka =-._ Przedpokéj
ED 426 1081 nt /
O L %
IRRY
——
c ]

Salon z anekser

O 25,08 m?

||

BALKON 1

10

\;)\O\NN\E\O

aat

SYTUACJA

=

T I9 T

gj=h

]

RZUT KONDYGNACJI

Mieszkanie 158

Pietro 2
Klatka K5
Liczba pokoi 4
Przedpokdj 10,81 m?
Salon z aneksem 25,08 m?
Sypialnia 1 9,79 m?
Sypialnia 2 9,80 m?
Sypialnia 3 8,86 m?
tazienka 4,26 m?
Balkon 1

Balkon 2

Powierzchnia uzytkowa 68,60 m?

Powierzchnia cato$ciowa 71,75 m?




